Practice Exam 1
Name:
Make sure to neatly and clearly show all work for each problem.

1. Find the solution to the following system of equations. Show all work.

.CE1—3.T3:—2
31+ Ty —2x3=25
2x1+2x2—|—x3:4

1. Written Solution

2. Video Solution

2. Let
2 -1 3 0 1 2 2
A=1|[5 1 =2 B=]1-4 1 3 C=13
2 2 3 —4 -1 =2 2

Then find AC + BC.

1. Written Solution
2. Video Solution

3. Let A, B,C be matrices of the same size. Prove that A + (B + C) =
(A+ B)+C.

1. Written Solution

2. Video Solution

4. Find the inverse of the matrix

A:

W W =
S Ot =
U =

1. Written Solution

2. Video Solution


https://dralb.com/2019/06/25/solving-a-system-of-equations/
https://www.youtube.com/watch?v=GGUh-_AMMnU
https://dralb.com/2019/06/25/matrix-operations/
https://www.youtube.com/watch?v=3vqGK9Eg8ro
https://dralb.com/2019/06/26/properties-of-matrix-operations/
https://www.youtube.com/watch?v=3vqGK9Eg8ro
https://dralb.com/2019/06/26/inverse-matrix/
https://www.youtube.com/watch?v=rPOXQB9OkUY

5. Find the inverse of the matrix

Find A~! as in problem [ Then find A~! * B as in problem [2|

6. Find the determinant of

12 1 -1
01 0 2
A= 03 -1 1
12 5 0

1. Written Solution 1
2. Video Solution 1
3. Written Solution 2

4. Video Solution 2

7. Prove or disprove the following.

Theorem 1. A matriz is nilpotent if A¥ = 0 for some natural number k.
Let A be nilpotent, then |A| = 0.

1. Written Solution

2. Video Solution


https://dralb.com/2019/07/01/finding-a-determinate-part-1/
https://dralb.com/2019/07/02/finding-a-determinate-part-2/
https://dralb.com/2019/07/03/nilpotent-implies-singular/

